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Do |Undo
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4) -20x- ) 0 Solve fory

[Do_[Undo_

Y420 D]
A

T A=d=r Solve for A

AT Vet e
=A |-
|

10) ¥ =']l'l@$olve for b,

Undo

9|
M

%) S=2arh Solve forh

5 o
mid> |
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§)A -ﬁ: Solve for b

e ——

Do |Undo |
@ '
‘h |=h

=0
=A
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1) m=-v-,- Solve for E.

Undo

Ez PP
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i

L

) E= me Salve form

Do_| Undo]
) m D
) _E, %'—ci
c® '
i.’ :'E

A S
>((R ;Sol\clorg

(£

Undo

E-IR

12) A = 2xh Solve for A,

' Do |Und
h:_/l_‘ ZZD :
ZWL 0{2 .:'2.
om 220
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& 103 e area 0f 3 trangle with a height of Gem and a base of Jem.

A- (J)(wf) = 4(16) - Gem?

. Solve the area formula for b ‘,Do — ‘ yf‘do i
@ |
b: A N E Z_A‘ ' ..B‘- ‘"‘ﬁ A
J; ] h o ot ‘
= YisA | =A
¢, Find the hase of a tnangle whose area is 20in and whose hmm 1$ din.
- 2(20) , 40 = pin
= iobe 0y EE
e
2. The formula d = »{;‘Hls the dnlantc traveled at a given rate and (ime.
Do Undo |
& Solve the equation fort. o [
T C/ ,'-;:’ p

— )
. f - :( = C/

b. Determine how long it will take an airplanc o travel 2,000 miles if it Mies:

1, 200 miles per hour ‘{';_Z:%%Q = 10h
7

it, 400 miles per hour ‘[;2 G- 5}

w2y
iil. 600 miles per hour Z% "-20 33 ﬁ
20
3, The volume of b Vi gven by he ormula ¥ = i) Do | Undo
2. Solve the formula for h. h Q’[f l v
L £ L
I

b, What is the height of a box with a volume of 50 cublc meters, length of 10 meters, and

width of 2 meters?
h- 60 - 25m
(ulz) —%




